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λS =
CO + CO2

CO + CO2 + C3H8
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(
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− 4.313 ·OB

· 1
LSt

3.1

tH =
p · d2

a · U2

Q = 125 pF · 31 kV
= 3.9 µC

3.2

L =
(
(2 · π · f)2 · C

)−1

≈ 80 nH

3.3

L = 2 · l · ln (D/d)

4.1

EZ =
CS · U2

DB

2

4.2

R ∼ d · √p

4.3

R ∼ d · pm

5.1

EG = (1− εH) · UC ·
∫

dt I

= (1− εH) · UC ·
I0 · T

2

⇒ UC =
2 · EG

I0 · T · (1− εH)
UC ≈ 310 V
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5.2

δ =
1√

π · f · µ0 · µr · σi

5.3

R

l
=

1
π · d · δ · σa

5.4

Rs = tan δ ·XC

mit: XC = (2 · π · f · C)−1

5.5

−I∞ =
Uges

Rges

5.6

τ =
2 · L
Rges

5.7

i = I0 − (I0 + I∞) · (1− e−
t
τ )

5.8

T = τ · ln
(

I0

I∞
+ 1

)
5.9

Eu = u ·
∫ T

0
dt i

5.10

Er = r ·
∫ T

0
dt i2

5.11 ∫ T

0
dt i =

−2 · L · Uges

R2
ges

· ln
(

I0 ·Rges

Uges
+ 1

)
+

2 · L · I0

Rges

5.12
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∫ T

0
dt i2 =

−2 · L · U2
ges

R3
ges

· ln
(
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Uges
+ 1

)
+

2 · L · I0

Rges
·
(
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2
− Uges
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)

5.13

R = Φ · d · p0.4
abs

5.14

EG = (1− εH) ·RZ ·
∫ T

0
dt i2

5.15

f =
(
2 · π

√
L · C

)−1

5.16

f ∼ 1√
C

5.17

Rs ∼
1

f · C

6.1

τ =
1

β · n
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